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Operating temperature
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Manual soldering

300 C max 3 sec

5805 Electrical Characteristics

HIHE (R)

Total resistance

500 Q ~1MQ

M EA AR E

Total resistance tolerance

+20 % (Lesss than 500 Q and More than 1 MQ £ 30 % )
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Resistance taper
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%@HE = Less than 80 mV

Sliding noise
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= = L . Less than 20 Q

Residual resistance
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Rated power (W) 0.05 W
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E: Rated voltage %H7€ &/ (V)

A R P: Powe{r rating %’Eﬁi?ﬁjj (Vi/)m

Rated voltage (V) R: Nominal total resistance AFE 4 [HFIE (Q)
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When the rated voltage exceeds the maximum operating voltage,the maximum operating voltage
shall be the rated voltage.
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R EHEE AC 50V DC20V

Max operating voltage
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5 Bﬂ.ﬁ . More than 100 MQ at DC 250 V

Insulation resistance

TR .

Withstand voltage I minute at AC 230 V

&R 4F 14 Mechanical Characteristics

é@i%ﬁa).ﬁ 280°+10°

Total rotational angle

élﬁ]iﬂjj 10 ~ 80 gf.cm

Rotational torque

C.CH/

CLC s [J 30 ~ 150 gf.cm

élﬁ]ﬁﬂ:?ﬁ-ﬁfﬁ 3 Kgf.cm max

Rotational stopper strength
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Shaft push-pull strength > Kgff max
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Rotational life

15,000 cycles
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Shaft Types #f7:
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